

			Vendor Ranking		Page 1 of 1
Letting:	03220519	May 19, 2022 02:00 pm	Call Order: 007	Contract:	E3V95-R0
District:	District 3		Counties:	Fed Aid No	o: N/A
Contract Time:	06/30/23 CC	OMPLETION DATE	GADSDEN, LEON	Project(s):	42215127241 (*)
Contract Desc:	MIDWAY O	PS MAINTENANCE - GUARI	DRAIL REPAIR		

Ran	ik Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	ACME BARRICADES LC	Responsive	Winning bid	\$685,340.50	100.00%
2	GRADING & BUSH HOG SERVICES, INC.	Responsive	Non-Winning Bid	\$698,132 <mark>.</mark> 10	101.87%
3	WRANGLER CONSTRUCTION INC.	Responsive	Non-Winning Bid	\$1,258,754.43	183.67%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes. NOTICE OF INTENT TO AWARD: AWARD AND EXECUTION CONTINGENT UPON BUDGET AVAILABILITY

MAXIMUM AMOUNT TO BE EXPENDED \$400,000.00



Page 1 of 7

#### **Tabulation of Bids**

 Letting:
 03220519
 May 19, 2022
 Call Order:
 007
 Contract:
 E3V95-R0

 District:
 District 3
 Counties:
 Fed Aid No:
 N/A

 Contract Time:
 06/30/23 COMPLETION DATE
 GADSDEN, LEON
 Project(s):
 42215127241 (\*)

#### Contract Descr: MIDWAY OPS MAINTENANCE - GUARDRAIL REPAIR

The work under this Work Document-Driven Contract consists of maintenance, removal, resetting, or replacement of existing guardrail systems within FDOT maintained right of way in Gadsden and Leon Counties. Emergency response repairs will be required under this contract. The Department will supply notice when emergency response is required. Respond as described in the contract specifications, with all measures necessary to ensure safety of the traveling public. All debris shall be removed and disposed of by the contractor, in compliance with Federal, State, and local laws and regulations. This and all work will be on a call out basis, authorized by Work Document. A pay item for Emergency Mobilization is supplied for costs of emergency response. Mobilization is incidental to the pay items in the Bid Proposal. Maintenance of Traffic, other than items listed in the Bid Proposal, is incidental to the other items in the current Bid Proposal.

This contract has a budgetary ceiling of \$400,000.00

The quantities shown on the Bid Price Proposal are approximate and only represent estimated planned requirements based on historical or specific project needs. The Department does not guarantee any maximum or minimum quantity, any range of quantities, or the exact quantities shown for each bid item. The Departments estimated quantities and the Contractors bid price will be used to calculate a total bid amount. This total bid amount will then be used to determine the low bidder; however, actual payment under the awarded contract will be based on actual quantities completed. For this Contract in which specific sites are not identified at the time of letting, the Engineer will issue a Work Document. Work Documents will identify the location, description, amount of work to be accomplished, and the number of calendar days to complete the work.

Line No / Item ID Alternate C Item Description	Quantity Units	(1) ACME BAR	RICADES LC	(2) GRADING & SERVICE		· · ·	ANGLER ICTION INC.
( ) indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (TRA			ONTROL (MH				
0005 0102 74 8 CHANNELIZING DEVICE- PEDESTRIAN LCD (LONGITUDINAL CHANNELIZING DEVICE)	10.000 FD	1.00000	10.00	0.01000	0.10	55.45000	554.50
0010 0102 76 ARROW BOARD / ADVANCE WARNING ARROW PANEL	1.000 ED	27.40000	27.40	0.50000	0.50	221.79000	221.79
0015 0102909 TEMPORARY RAISED RUMBLE STRIPS- PER DAY, INCLUDES ALL SETS AND RELOCATIONS	1.000 DA	50.00000	50.00	0.50000	0.50	110.90000	110.90



Page 2 of 7

Letting:	)3220519	May 19, 2022	Cal	l Order: 007		Contract:	E3V95-R0	
Line No / Item ID Item Description		Quantity Units	(1) ACME BAR	RICADES LC	(2) GRADING SERVICI			ANGLER CTION INC.
() indicates item is l	bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	0001	(TRAFFIC CON	TROL DEVICES (	CONTROL (MH				
0020 0515 1 2 PIPE HANDRAIL - G ALUMINUM	UIDERAIL,	80.000 LF	50.00000	4,000.00	75.00000	6,000.00	88.72000	7,097.60
0025 0515 2311 PEDESTRIAN/ BICY ALUMINUM ONLY,42		80.000 LF	85.00000	6,800.00	150.00000	12,000.00	99.81000	7,984.80
0030 0515 2601 PEDESTRIAN / BICY POWDER COAT RE		10.000 LF NEL	100.00000	1,000.00	200.00000	2,000.00	144.17000	1,441.70
0035 0536 1 0 GUARDRAIL -ROAD GENERAL/LOW SPE		38.000 LF	28.00000	1,064.00	2.50000	95.00	50.17000	1,906.46
0040 0536 1 1 GUARDRAIL -ROAD	WAY, GENERAL	7,400.000 _ TL-3 LF	45.75000	338,550.00	40.00000	296,000.00	66.18000	489,732.00
0045 0536 1 3 GUARDRAIL- ROAD	WAY, DOUBLE F	1,750.000 FACE LF	40.00000	70,000.00	50.00000	87,500.00	103.80000	181,650.00
0050 0536 5 1 RUB RAIL FOR GUA SIDED RUB RAIL	RDRAIL, SINGL	250.000 E LF	20.00000	5,000.00	25.00000	6,250.00	23.62000	5,905.00
0055 0536 5 2 RUBRAIL FOR GUA SIDED RUB RAIL	RDRAIL, DOUBI	339.000 LE LF	1.00000	339.00	25.00000	8,475.00	47.24000	16,014.36
0060 0536 6 PIPE RAIL FOR GUA	ARDRAIL	150.000 LF	1.00000	150.00	10.00000	1,500.00	55.45000	8,317.50



Page 3 of 7

Letting: 03220519 Mag	y 19, 2022	Ca	l Order: 007		Contract:	E3V95-R0	
Line No / Item ID Alternate Item Description	Quantity Units	(1) ACME BAR	RICADES LC	(2) GRADING & SERVICE			ANGLER CTION INC.
( ) indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (TF		ITROL DEVICES O	ONTROL (MH				
0065 0536 7 2	1.000	250.00000	250.00	250.00000	250.00	510.13000	510.13
SPECIAL GUARDRAIL POST- SPECIAL STEEL POST FOR CONCRETE STRUCTURE MOUNT	EA						
0070 0536 8111	1.000	2,500.00000	2,500.00	2,500.00000	2,500.00	3,320.27000	3,320.27
GUARDRAIL TRANSITION CONNECTIO TO RIGID BARRIER, F&I- INDEX 536- 001, APPROACH TL-2	N EA						
0075 0536 8112	1.000	3,000.00000	3,000.00	3,500.00000	3,500.00	4,415.93000	4,415.93
GUARDRAIL TRANSITION CONNECTIO TO RIGID BARRIER, F&I- INDEX 536- 001, APPROACH TL-3	N EA						
0080 0536 8113	1.000	2,500.00000	2,500.00	2,500.00000	2,500.00	1,206.56000	1,206.56
GUARDRAIL TRANSITION CONNECTIC TO RIGID BARRIER, F&I- INDEX 536- 001, TRAILING	N EA						
0085 0536 8122	1.000	3,000.00000	3,000.00	3,500.00000	3,500.00	6,653.84000	6,653.84
GUARDRAIL TRANSITION CONNECTIC TO RIGID BARRIER, F&I- INDEX 536- 002, APPROACH TL-3	N EA						
0090 0536 8123	1.000	2,500.00000	2,500.00	2,500.00000	2,500.00	6,653.84000	6,653.84
GUARDRAIL TRANSITION CONNECTIC TO RIGID BARRIER, F&I- INDEX 536- 002, TRAILING	N EA						
0095 0536 73	9,150.000	16.90000	154,635.00	2.50000	22,875.00	2.22000	20,313.00
GUARDRAIL REMOVAL	LF						
0100 0536 85 20	25.000	150.00000	3,750.00	1,500.00000	37,500.00	2,872.24000	71,806.00
GUARDRAIL END TREATMENT- TRAILING ANCHORAGE	EA						



Page 4 of 7

Letting	: 03220519	9 May	/ 19, 2022	Cal	ll Order: 007		Contract:	E3V95-R0	
	No / Item ID All Description	ternate	Quantity Units	(1) ACME BAR	RICADES LC	(2) GRADING SERVICI			ANGLER CTION INC.
() indic	cates item is bid as Lum	p Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001	(TR		ITROL DEVICES (	CONTROL (MH				
GUARDR	0536 85 24 RAIL END TREATMEN EL APPROACH TERN		8.000 EA	2,250.00000	18,000.00	6,500.00000	52,000.00	5,436.19000	43,489.52
	0536 85 26 RAIL END TREATMEN	NT- TYPE	1.000 EA	2,250.00000	2,250.00	1.00000	1.00	8,148.74000	8,148.74
GUARDR	0536 85 27 RAIL END TREATMEN FACE APPROACH T		1.000 EA	5,000.00000	5,000.00	500.00000	500.00	15,969.22000	15,969.22
GUARDR	0536 85 29 RAIL END TREATMEN FACE TRAILING AN		1.000 EA	2,000.00000	2,000.00	500.00000	500.00	3,293.65000	3,293.65
	0538 1 RAIL RESET		85.000 LF	17.50000	1,487.50	25.00000	2,125.00	11.09000	942.65
DELINEA	0705 11 6 NTOR, REPLACE DEL TING BARRIER	INEATOR	200.000 EA	15.00000	3,000.00	20.00000	4,000.00	6.65000	1,330.00
	E101 72 ATION (EMERGENC` ISE)	Y	40.000 EA	1.00000	40.00	200.00000	8,000.00	5,544.87000	221,794.80
	E102 10 TY LAW ENFORCEMI R	ENT	200.000 MH	200.00000	40,000.00	100.00000	20,000.00	88.72000	17,744.00
	E102100 INTENANCE SERVIC	ES	20.000 HR	1.00000	20.00	75.00000	1,500.00	110.90000	2,218.00



Page 5 of 7

Letting	: 032	20519 M	ay 19, 2022	Ca	ll Order: 007		Contract:	E3V95-R0	
	No / Item ID Description	Alternate	Quantity Units	(1) ACME BAR	RICADES LC	(2) GRADING SERVICI			ANGLER CTION INC.
() india	cates item is bid a	as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001 (1			CONTROL (MH				
GUARDR		FFSET BLOCK	40.000 EA	30.00000	1,200.00	50.00000	2,000.00	55.45000	2,218.00
	E536 15 ANEOUS GUA NANCE		105,706.000 LF	0.10000	10,570.60	1.00000	105,706.00	0.89000	94,078.34
END ANC	E536301501 CHOR ASSEM END SECT)	TYPE II (REPL	4.000 EA	65.00000	260.00	100.00000	400.00	124.23000	496.92
END ANC	E536301502 CHOR ASSEM END SECT)	TYPE II (REPL	17.000 EA	65.00000	1,105.00	150.00000	2,550.00	354.41000	6,024.97
END ANC	E536301503 CHOR ASSEM END SECT)	TYPE II (REPL	4.000 EA	65.00000	260.00	250.00000	1,000.00	130.37000	521.48
END ANC	E536303503 CHOR ASSEM END SECTION		4.000 EA	65.00000	260.00	1.00000	4.00	605.83000	2,423.32
END ANC	E536322502 CHOR ASSEM END SECT)	FLARED (REPI	4.000 - EA	65.00000	260.00	150.00000	600.00	354.41000	1,417.64
END ANC	E536322503 CHOR ASSEM END SECT)	FLARED (REPI	4.000 _ EA	65.00000	260.00	250.00000	1,000.00	130.37000	521.48
END ANC	E536322508 CHOR ASSEM BREAK POST)	FLARED (REPL	1.000 _ EA	1.00000	1.00	250.00000	250.00	84.97000	84.97



Page 6 of 7

Letting	<b>g:</b> (	3220519	May 19, 202	22	Cal	l Order: 007		Contract:	E3V95-R0	
	No / Item ID Description	Alterna	ate Quantit Units	у	(1) ACME BAR	RICADES LC	(2) GRADING ( SERVICE		· · ·	ANGLER ICTION INC.
	-	oid as Lump Sur	n		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(TRAFFIC C	ON	TROL DEVICES O	CONTROL (MH				
	E53632251 NCHOR ASSE REFLECT S	- Em Flared (F	8.00 REPL E	00 A	30.00000	240.00	100.00000	800.00	19.52000	156.16
	E53632451 NCHOR ASSE TIMBR BREA	M PARALLEL	1.00 . (REPL E	00 A	1.00000	1.00	250.00000	250.00	64.39000	64.39
	0001 TRAFFI DEVICES CO		Section Totals	s:		\$685,340.50		\$698,132.10		\$1,258,754.43

Contract Grand Totals: \$685,340.50 \$698,132.10 1,258,754.4
--



			Tabulation of Bids			Page 7 of 7
Letting:	03220519	May 19, 2022	Call Order: 007	Contract:	E3V95-R0	
			e to file a protest within the time pre			

120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.